
Q.1 �दए गए �वक�प� म� से वह वण�-समूह चुन� जो �न�न�ल�खत �ंृखला म � ���च� (?) के �ान पर आएगा?

NZK, MBH, LDE, KFB, ?

Ans 1. HIY

2. JHX

3. JHZ

4. JHY

Question ID : 81616114020
Status : Answered

Chosen Option : 4

Q.2 नीचे चार वण�-समूह �दए गए ह � �जनम� से तीन �कसी संदभ� म � एक समान ह � और उनम� से एक असंगत है। उस
असंगत वण�-समूह का चयन कर�।

Ans 1. DHSP

2. TXCZ

3. NRJG

4. FJQN

Question ID : 81616112709
Status : Answered

Chosen Option : 3

Q.3 वह सही �वक�प चुन � जो �दए गए श�द� को उस �म म� दशा�ता है �जस �म म� वे अं�ेजी श�दकोश म� आते ह�।

1. Turban
2. Terminator
3. Twister
4. Temptation
5. Terrorism

Ans 1. 4, 2, 1, 3, 5

2. 4, 1, 3, 2, 5

3. 4, 2, 5, 1, 3

4. 4, 5, 2, 1, 3

Question ID : 81616112708
Status : Answered

Chosen Option : 3
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Q.4 �कसी �व�श� कूटभाषा म�, ‘NOSTALGIA’ को ‘81’ के �प म� कूटब� �कया गया है, तो उसी भाषा म�
‘FRICTION’ को कैस ेकूटब� �कया जाएगा? 

Ans 1. 85

2. 105

3. 36

4. 64

Question ID : 81616114027
Status : Not Answered

Chosen Option : --

Q.5 नीचे चार श�द �दए गए ह� �जनम� से तीन �कसी संदभ� म � एक समान ह� और उनम� से एक असंगत है। उस असंगत
श�द का चयन कर �।

Ans 1. मनो�च�क�सक

2. �ास-रोग �वशेष�

3. गुदा�-रोग �वशेष�

4. �दय-रोग �वशेष�

Question ID : 81616114023
Status : Answered

Chosen Option : 1

Q.6 वह �वक�प चुन� जो तीसरे श�द से उसी �कार संबं�धत है, �जस �कार �सरा श�द पहल ेश�द से संबं�धत है।

अहंकार : �वन�ता : : �नराशा : ?

Ans 1. दद�

2. आशा

3. वेदना

4. �वषाद

Question ID : 81616112711
Status : Answered

Chosen Option : 2

Q.7 �कन दो सं�या� का �ान पर�र बदलने से �दया गया समीकरण सही हो जाएगा?

78 ÷ 48 × 8 + (26 × 7) – 39 + (45 + 15) = 210

Ans 1. 26 और 15

2. 45 और 48

3. 78 और 45

4. 48 और 39

Question ID : 81616114036
Status : Answered

Chosen Option : 4



Q.8 उस �वक�प का चयन क��जए �जसके श�द� के म�य वही संबंध है, जो �दए गए श�द–यु�म के श�द� के म�य है। 

मॉरीशस : पोट� लुइस

Ans 1. के�या : नैरोबी

2. नाइजी�रया : सेनेगल

3. सूडान : तंज़ा�नया

4. जा��बया : हरारे

Question ID : 81616114025
Status : Answered

Chosen Option : 1

Q.9 �कसी �व�श� कूटभाषा म� 'SURROUND' को 'RRUSDNUO’ के �प म � �लखा जाता है। तो उसी भाषा म �
‘MITIGATE’ को कैसे �लखा जाएगा?

Ans 1. ITIEMTAG

2. ITIMETGA

3. TIIMTEAG

4. ITIMETAG

Question ID : 81616114127
Status : Answered

Chosen Option : 4

Q.10 नीचे चार सं�या-यु�म �दए गए ह� �जनम� से तीन �कसी संदभ� म� एक समान ह� और उनम � से एक असंगत है। उस
असंगत सं�या-यु�म का चयन कर�।

Ans 1. 25 : 631

2. 21 : 447

3. 30 : 908

4. 22 : 490

Question ID : 81616114033
Status : Answered

Chosen Option : 3

Q.11 वह �वक�प चुन� जो चौथी सं�या से उसी �कार संबं�धत है, �जस �कार �सरी सं�या से पहली सं�या और छठ�
सं�या से पाँचव� सं�या संबं�धत है।

83 : 3 :: ? : 5 :: 258 : 4

Ans 1. 527

2. 222

3. 627

4. 123

Question ID : 81616114133
Status : Answered

Chosen Option : 3



Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114042
Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114145
Status : Answered

Chosen Option : 1



Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112725
Status : Answered

Chosen Option : 1

Q.15 अ�र� के उस संयोजन का चयन कर� जो द� गई � ृंखला म� �र� �ान� म � ��मक �प से रख ेजाने पर � ृंखला को
पूण� करेगा।

K _ C T Q _ O C _ _ K O _ T _ K O _ T T

Ans 1. O, K, U, R, C, S, C

2. O, K, T, R, C, T, C

3. P, K, T, R, C, S, C

4. O, K, T, R, C, S, C

Question ID : 81616114028
Status : Not Answered

Chosen Option : --



Q.16 10 जून 2011 को स�ताह का कौन-सा �दन था?

Ans 1. र�ववार

2. शु�वार

3. सोमवार

4. श�नवार

Question ID : 81616114037
Status : Not Answered

Chosen Option : --

Q.17 वह �वक�प चुन� �जसम� सं�याए ँएक �सरे से उसी तरह से संब�ंधत ह� जैसे नीचे �दए गए सेट क� सं�याए ँएक
�सरे से संबं�धत ह�।

(18, 24, 144)

Ans 1. (18, 20, 137)

2. (26, 15, 130)

3. (22, 18, 246)

4. (16, 12, 109)

Question ID : 81616114035
Status : Answered

Chosen Option : 1

Q.18 वह �वक�प चुन� �जसम� सं�याए ँएक �सरे से उसी तरह से संब�ंधत ह� जैसे नीचे �दए गए सेट क� सं�याए ँएक
�सरे से संबं�धत ह�। 

(5, 11, 275)

Ans 1. (6, 18, 180)

2. (8, 14, 490)

3. (4, 16, 256)

4. (9, 15, 270)

Question ID : 81616114135
Status : Not Answered

Chosen Option : --



Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114041
Status : Answered

Chosen Option : 2

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114039
Status : Answered

Chosen Option : 1



Q.21

Ans

1. 

2. 

3. 

4. 

Question ID : 81616114043
Status : Answered

Chosen Option : 4



Q.22 य�द ‘A # B’ का अथ� है �क ‘B क� बहन A ह’ै और ‘A @ B’ का अथ� है �क ‘B क� माँ A है’, तो �कस � यंजक का
अथ� ह ै�क ‘F क� मा ँC है’?

Ans 1. C @ H # M @ F

2. H @ C # M # F

3. F @ H # M # C

4. C @ H # M # F

Question ID : 81616114029
Status : Not Answered

Chosen Option : --

Q.23 �दए गए कथन� और �न�कष� को �यान स ेपढ़�। कथन� म� द� गई जानकारी को स� य मानते �ए, भल ेही वह
सामा�य �प से �ात त�य� से �भ� �तीत हो, �नधा��रत कर� �क कौन से �न�कष� �दए गए कथन� का ता�क�क �प
से अनुसरण करते ह�। 

कथन:
सभी कूड़ापा�, ‘�ला��टक क� व�तुए’ँ ह �।
कोई भी ‘�ला��टक क� व�तु’, प�र नह� है।
सभी लक�ड़या ँप�र ह�।

�न�कष�:
I. कोई भी कूड़ापा�, लकड़ी नह� है।
II. कोई भी ‘�ला��टक क� व�त’ु, लकड़ी नह� है।
III. कुछ लक�ड़या,ँ कूड़ापा� हो सकती ह �।

Ans 1. केवल �न�कष� I अनुसरण करता है

2. केवल �न�कष� I और II अनुसरण करते ह�

3. सभी �न�कष� अनुसरण करते ह�

4. केवल �न�कष� II अनुसरण करता है

Question ID : 81616114131
Status : Answered

Chosen Option : 2

Q.24 �दए गए �वक�प� म� से वह सं�या चुन� जो �न�न�ल�खत शृंखला म � ���च� (?) के �ान पर आएगी?

6, 7, 23, 41, 125, ?

Ans 1. 354

2. 345

3. 245

4. 254

Question ID : 81616112718
Status : Answered

Chosen Option : 1



Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114040
Status : Answered

Chosen Option : 1

Q.1 �न�न म� से कौन सा अ�णाचल �देश का एक �जला-सह-पय�टन हॉट�ॉट ह?ै

Ans 1. जलपाईगुड़ी

2. तवांग

3. का�ल �प�ग

4. अलीपुर�ार

Question ID : 81616114055
Status : Answered

Chosen Option : 1

Q.2 Which of the following is the SI unit for measuring the amount of a substance?

Ans 1. mole (mol)

2. candela (cd)

3. metre (m)

4. kelvin (K)

Question ID : 81616112737
Status : Answered

Chosen Option : 1

Section : General Awareness



Q.3 ______, �े�फल के �हसाब से भारत म� सबसे बड़ा क� � शा�सत �देश है।

Ans 1. ज�म ूऔर क�मीर

2. चंडीगढ़

3. ल�ाख

4. प�ुचेरी

Question ID : 81616112743
Status : Answered

Chosen Option : 1

Q.4 '16-याड� �हट' श�द �न�न म� से �कस खेल स ेसंबं�धत ह?ै

Ans 1. लॉन टे�नस

2. गो�फ़

3. ��केट

4. फ�� हॉक�

Question ID : 81616114167
Status : Answered

Chosen Option : 4

Q.5 आलमगीर �कस मुगल स�ाट क� उपा�ध थी?

Ans 1. अकबर

2. औरंगजेब

3. शाहजहाँ

4. बाबर

Question ID : 81616114058
Status : Answered

Chosen Option : 2

Q.6 ______ के �लए बनाए गए �नयम� को ‘�वनय�पटक’ नामक पु�तक म � �लखा गया था।

Ans 1. वै�णव�

2. बौ� संघ

3. �ल �गायत�

4. शा� पंथ

Question ID : 81616114161
Status : Not Answered

Chosen Option : --



Q.7 ‘मेन इन �हाइट - ए बुक ऑफ़ ��केट’ (Men in White - A Book of Cricket) नामक पु�तक के लेखक कौन
ह �?

Ans 1. संजय मांजरेकर

2. बो�रया मजूमदार

3. मुकुल केसवन

4. हषा� भोगले

Question ID : 81616114062
Status : Answered

Chosen Option : 4

Q.8 जनवरी 2021 तक �ा�त जानकारी के अनुसार भारतीय क�य�ुन�ट पाट� के महास�चव कौन ह �?

Ans 1. एस. सुधाकर र�ेी

2. बृंदा करात

3. डी. राजा

4. सुजन च�वत�

Question ID : 81616114063
Status : Answered

Chosen Option : 1

Q.9 �कस त�व के परमाण ुहाइ�ोजन के साथ �मलकर जल बनात ेह�?

Ans 1. नाइ�ोजन

2. आयोडीन

3. काब�न

4. ऑ�सीजन

Question ID : 81616114150
Status : Answered

Chosen Option : 4

Q.10 2020 म�, कोलकाता पोट� ��ट का नाम बदलकर ______ कर �दया गया।

Ans 1. �ी अर�ब�दो ��ट

2. रामकृ�ण ��ट

3. �यामा �साद मुखज� ��ट

4. सुभाष चं� बोस ��ट

Question ID : 81616112756
Status : Answered

Chosen Option : 4



Q.11 कमायचा �न�न म � स ेकहा ँके मांग�णयार� �ारा बजाया जानेवाला मुड़ी �ई वीणा नुमा एक वा� य�ं है?

Ans 1. प��मी �बहार

2. प��मी केरल

3. प��मी राज�ान

4. प��मी गोवा

Question ID : 81616114046
Status : Answered

Chosen Option : 3

Q.12 Weber per second is equivalent to ______.

Ans 1. coulomb

2. ohm

3. volt

4. ampere

Question ID : 81616114053
Status : Answered

Chosen Option : 3

Q.13 1977 म�, जनता पाट� के अ�य� कौन बने, �ज�ह�ने �धानमं�ी के �प म� मोरारजी देसाई के साथ क� � म�
गठबंधन सरकार बनाई?

Ans 1. जॉज� फना�डीस

2. चं� शेखर

3. चरण �स �ह

4. मध ुदंडवते

Question ID : 81616114064
Status : Answered

Chosen Option : 3

Q.14 आई.पी.आर. (IPR) 1956 भारत क� ______ पंचवष�य योजना का मूल आधार थी।

Ans 1. चतुथ�

2. ��तीय

3. �थम

4. तृतीय

Question ID : 81616114047
Status : Answered

Chosen Option : 2



Q.15 ______ स�तनत पर शरक� वंश का शासन था।

Ans 1. �द�ली

2. आगरा

3. भरतपुर

4. जौनपुर

Question ID : 81616114158
Status : Answered

Chosen Option : 4

Q.16 �न�न म� से कौन-सा �व�ान और �ौ�ो�गक� के �े� म� योगदान के �लए �दया जाने वाला एक पुर�कार ह?ै

Ans 1. �ोणाचाय� पुर�कार

2. �ानपीठ पुर�कार

3. शा�ंत �व�प भटनागर (SSB) पुर�कार

4. द�नानाथ मंगेशकर पुर�कार

Question ID : 81616112748
Status : Answered

Chosen Option : 3

Q.17 अतरंजीखेड़ा पुराता��वक �ल ______ म � ��त है।

Ans 1. �हमाचल �देश

2. उ�राखंड

3. महारा�

4. उ�र �देश

Question ID : 81616114059
Status : Answered

Chosen Option : 4

Q.18 �न�न म� से कौन-सा रोग बै�ट��रया (जीवाण)ु स ेहोता है?

Ans 1. जीका बुखार

2. पो�लयो

3. �ड�थी�रया

4. �बेला

Question ID : 81616114051
Status : Answered

Chosen Option : 3



Q.19 खेल� और ��त�धा�� म� उ�कृ� ��तभा� को स�मा�नत करने के �लए युवा मामले और खेल मं�ालय �ारा
अजु�न पुर�कार �दए जाते ह �। इ�ह� ______ म � शु� �कया गया था।

Ans 1. 1969

2. 1956

3. 1947

4. 1961

Question ID : 81616112752
Status : Answered

Chosen Option : 4

Q.20 ब�तर ��े म � ______ �यौहार �ानीय देवी, केशरपाल केशरपा�लन देवी क� पूजा के साथ मनाया जाता है।

Ans 1. मदाई

2. खत�आ

3. हरेला

4. फूलदेई

Question ID : 81616114146
Status : Answered

Chosen Option : 3

Q.21 �व� कु� �दवस 2021 भारत म� ______ जनवरी 2021 को मनाया गया।

Ans 1. 31

2. 22

3. 25

4. 30

Question ID : 81616114068
Status : Answered

Chosen Option : 1

Q.22 �न�न म� से �कस रा�य के साथ बां�लादेश अपनी सीमा साझा नह� करता है?

Ans 1. नागाल�ड

2. असम

3. ��पुरा

4. मेघालय

Question ID : 81616114054
Status : Answered

Chosen Option : 1



Q.23 �न�न म� से कौन-सा म�ंालय 2020 म� शु� क� गई ‘�वा�म�व (SVAMITVA)’ योजना के काया��वयन के �लए
�मुख (नोडल) मं�ालय ह?ै

Ans 1. �श�ा म�ंालय

2. कृ�ष और �कसान क�याण मं�ालय

3. पंचायती राज मं�ालय

4. शहरी और �ामीण �वकास मं�ालय

Question ID : 81616112754
Status : Answered

Chosen Option : 4

Q.24 पारसेक ______ क� एक इकाई है।

Ans 1. लंबाई

2. समय

3. �वरण

4. चाल

Question ID : 81616114153
Status : Answered

Chosen Option : 1

Q.25 सांसद� �ारा गाँव� को गोद लेने से संब�ंधत एक योजना ‘SAGY’ श�ु क� गई थी। SAGY म� 'A' का अथ� �या ह?ै

Ans 1. Anubhav (अनुभव)

2. Atmanirbhar (आ�मा�नभ�र)

3. Apna (अपना)

4. Adarsh (आदश�)

Question ID : 81616114048
Status : Answered

Chosen Option : 4

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114078
Status : Answered

Chosen Option : 3

Section : Quantitative Aptitude



Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112773
Status : Not Answered

Chosen Option : --

Q.3

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114088
Status : Not Answered

Chosen Option : --

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113183
Status : Answered

Chosen Option : 2



Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114083
Status : Not Answered

Chosen Option : --

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114074
Status : Answered

Chosen Option : 2

Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112758
Status : Answered

Chosen Option : 4



Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114193
Status : Not Answered

Chosen Option : --

Q.9

Ans
1. 

2. 

3. 

4. 

Question ID : 81616113180
Status : Not Answered

Chosen Option : --

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114077
Status : Not Answered

Chosen Option : --



Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114084
Status : Answered

Chosen Option : 3

Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 81616113584
Status : Not Answered

Chosen Option : --

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113185
Status : Not Answered

Chosen Option : --



Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114195
Status : Not Answered

Chosen Option : --

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114070
Status : Answered

Chosen Option : 2

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112762
Status : Not Answered

Chosen Option : --



Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114085
Status : Answered

Chosen Option : 1

Q.18

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114183
Status : Not Answered

Chosen Option : --

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114080
Status : Not Answered

Chosen Option : --



Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114177
Status : Answered

Chosen Option : 4

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114174
Status : Answered

Chosen Option : 4

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114087
Status : Not Answered

Chosen Option : --

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112768
Status : Not Answered

Chosen Option : --



Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 81616114072
Status : Not Answered

Chosen Option : --

Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 81616114180
Status : Not Answered

Chosen Option : --

Q.1 Select the most appropriate ANTONYM of the given word.

Comfort

Ans 1. Enjoyment

2. Discontentment

3. Luxury

4. Happiness

Question ID : 81616112798
Status : Answered

Chosen Option : 2

Section : English Comprehension



Q.2 Select the option that expresses the given sentence in reported speech.

The policeman said, “It is clear that this is the work of a professional robber”.

Ans 1. The policeman said it was clear that is the work of a professional robber.

2. The policeman said that it was clear that that was the work of a professional robber.

3. The policeman said that it must be clear that this was the work of a professional
robber.

4. The policeman said that it had been clearly the work of a professional robber.

Question ID : 81616114098
Status : Answered

Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.

Brat

Ans 1. Rich person

2. Plump lady

3. Wise man

4. Spoilt child

Question ID : 81616114109
Status : Answered

Chosen Option : 2

Q.4 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Four of earliest civilisations / of the world / were located / on the banks of or near large
rivers.

Ans 1. Four of earliest civilisations

2. of the world

3. were located on the banks of

4. or near large rivers

Question ID : 81616114196
Status : Answered

Chosen Option : 1

Q.5 Select the option that can be used as a one-word substitute for the given group of words.

A person who thinks that bad things are more likely to happen or
who emphasises the bad part of a situation

Ans 1. Optimist

2. Complainer

3. Pessimist

4. Misanthropist

Question ID : 81616114115
Status : Answered

Chosen Option : 4



Q.6 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

No sooner did Priya / get her report card / when she started jumping / with joy.

Ans 1. No sooner did Priya

2. get her report card

3. when she started jumping

4. with joy

Question ID : 81616114096
Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate meaning of the following idiom.

Lion's share

Ans 1. The strongest and richest partner in a group

2. The sound produced by a lion when it is attacking a prey

3. The part that must be left for the guests in a party

4. The greatest and most desirable portion of something

Question ID : 81616114214
Status : Answered

Chosen Option : 4

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Shopkeeper: “Here, I have packed them all.”
B. Mala: “Please give me a packet of balloons, two packets of streamers, and some
candles.”
C. Shopkeeper: “Since we are offering some discount on the balloons, you need to pay only
thirty rupees.”
D. Mala: “How much do I need to pay?”

Ans 1. DABC

2. CDAB

3. BADC

4. ABCD

Question ID : 81616112794
Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the given word.

Conceited

Ans 1. Modest

2. Superior

3. Vain

4. Proud

Question ID : 81616114213
Status : Not Answered

Chosen Option : --



Q.10 Select the most appropriate option to fill in the blank.

Himank's health has ______ ever since he has refused to get himself treated.

Ans 1. depreciated

2. deteriorated

3. denigrated

4. disparaged

Question ID : 81616114120
Status : Answered

Chosen Option : 2

Q.11 Select the option that can be used as a one-word substitute for the given group of words.

The act or habit of talking in one's sleep

Ans 1. Monologue

2. Prologue

3. Somniloquy

4. Soliloquy

Question ID : 81616114116
Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate option to fill in the blank.

Use your logical thinking for ______ decisions today as you will certainly succeed.

Ans 1. desperate

2. critical

3. severe

4. dangerous

Question ID : 81616114119
Status : Answered

Chosen Option : 2

Q.13 Select the most appropriate synonym of the given word.

Deride

Ans 1. Lift

2. Admire

3. Approve

4. Mock

Question ID : 81616114110
Status : Answered

Chosen Option : 2



Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. They stopped at a village on the way to rest and drink water and found the entire village
had gathered to watch a weightlifter who was putting on a performance. 
B. Tenali was very impressed and exclaimed, “You are very strong!”
C. With his big arms and bulging muscles, he picked up a 200-kg bag of rice with ease.
D. One day Tenali Raman and his wife were on their way to Hampi.

Ans 1. DBCA

2. DACB

3. CDAB

4. BDCA

Question ID : 81616114209
Status : Answered

Chosen Option : 2

Q.15 Select the INCORRECTLY spelt word.

Ans 1. Restaurant

2. Referred

3. Reciept

4. Rhyme

Question ID : 81616112805
Status : Answered

Chosen Option : 2

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’. 

With magnifying glass, we can observe how minute insects like ants behave.

Ans 1. No substitution

2. Using magnifying glass

3. By a magnifying glass

4. With a magnifying glass

Question ID : 81616114100
Status : Answered

Chosen Option : 4

Q.17 Select the option that expresses the given sentence in passive voice.

The boy's cricket ball broke the neighbour's window.

Ans 1. The neighbour's window was broken by the boy's cricket ball.

2. The neighbour's window was broke by the boy's cricket ball.

3. The neighbour's window is broken by the boy's cricket ball.

4. The neighbour's window had been broke by the boy's cricket ball.

Question ID : 81616114097
Status : Answered

Chosen Option : 1



Q.18 Select the most appropriate meaning of the following idiom.

A live wire

Ans 1. A very active or energetic person

2. An angry and bad-tempered person

3. An influential and powerful person

4. A dangerous and evil person

Question ID : 81616114215
Status : Answered

Chosen Option : 2

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’. 

Suresh has only been working here since one month and he has already learnt the job.

Ans 1. here for one month

2. here from one month

3. here ever since one month

4. No substitution

Question ID : 81616114099
Status : Answered

Chosen Option : 1

Q.20 Select the INCORRECTLY spelt word.

Ans 1. Teacher

2. Proffesser

3. Director

4. Headmaster

Question ID : 81616112804
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1)______ the biggest businesses in the world, generating (2)______ 200 million
jobs. It is vital for the economies of (3)______ countries. The downside is that tourism is a
major (4)______ of climate change through the carbon (5)______ it causes.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number (1).

Ans 1. in

2. by

3. at

4. of

Question ID : 81616112789
Status : Answered

Chosen Option : 4



Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1)______ the biggest businesses in the world, generating (2)______ 200 million
jobs. It is vital for the economies of (3)______ countries. The downside is that tourism is a
major (4)______ of climate change through the carbon (5)______ it causes.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number (2).

Ans 1. at last

2. at most

3. at least

4. at much

Question ID : 81616112790
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1)______ the biggest businesses in the world, generating (2)______ 200 million
jobs. It is vital for the economies of (3)______ countries. The downside is that tourism is a
major (4)______ of climate change through the carbon (5)______ it causes.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number (3).

Ans 1. many

2. enough

3. less

4. much

Question ID : 81616112791
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1)______ the biggest businesses in the world, generating (2)______ 200 million
jobs. It is vital for the economies of (3)______ countries. The downside is that tourism is a
major (4)______ of climate change through the carbon (5)______ it causes.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number (4).

Ans 1. contributor

2. quantifier

3. revolver

4. contractor

Question ID : 81616112792
Status : Answered

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1)______ the biggest businesses in the world, generating (2)______ 200 million
jobs. It is vital for the economies of (3)______ countries. The downside is that tourism is a
major (4)______ of climate change through the carbon (5)______ it causes.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number (5).

Ans 1. omissions

2. options

3. variations

4. emissions

Question ID : 81616112793
Status : Answered

Chosen Option : 4




